
Ein	
  Biegeträger	
  (Elastizitätsmodul	
  E,	
  Flächenmoment	
  2.	
  Ordnung	
  I,	
  Länge	
  L)	
  ist	
  auf	
  drei	
  
Stützen	
  statisch	
  unbestimmt	
  gelagert	
  (s.	
  Skizze).	
  Bis	
  zu	
  welchem	
  maximalen	
  Abstand	
  c	
  
zwischen	
  linkem	
  und	
  mittlerem	
  Lager	
  ist	
  das	
  rechte	
  Lager	
  B	
  noch	
  sinnvoll,	
  wenn	
  der	
  
Träger	
  mit	
  einer	
  konstanten	
  Linienlast	
  q	
  belastet	
  wird?	
  
Auf	
  das	
  rechte	
  Lager	
  kann	
  verzichtet	
  werden,	
  wenn	
  der	
  Biegeträger	
  dort	
  nicht	
  mehr	
  
aufliegt.	
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Superposition:	
  Durchbiegung	
  am	
  mittleren	
  Lager	
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Nullstelle	
  von	
  FB(X)	
  
	
  

X + 1
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= 4 ⇒ c ≤ L
2

5− 13( ) = 0.6972244L
	
  

	
  
	
  
Symmetrie:	
  Gespiegelt	
  um	
  die	
  vertikale	
  Mittelachse	
  gilt	
  das	
  Ergebnis	
  gleichermaßen	
  
auch	
  für	
  das	
  linke	
  Festlager.	
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